45 | B BFRAIE

I11RAI1B ~ I1BI5H
118 £z | ELWEE-SHVELLS!
A 1 1B(A) 128 (X) 138 (XK) 148 (K) 158 (%)
ISO AR 2RES (BAE6E-4
?Tg ZFB2EE )
&R B2 N 2REY 7vieita eRER
25 [E zE EIES [ zE [zE
| FEEFHFLHLREY | RRIOLCIE | £RIORSCIE | RRIHOBCITE | FkflHRCTE
1£59 T T fu h
(TY#P4T~59 | (T)#% P47~59 | (T)# P47~59 | (T)# P47~59
1p S HEX HE HEX %RE
2 =Ltk E mia &mia i HAEMRE
& (F)# P2~17 (F)#&P2~17 (F)# P2~17 3,455
TR 18 B & B
3 DL EDEREE | AAINIZ<NH mia RN RN R BESE
& 5771 (FYH P2~17 53 P130~(5I =S58
EHnEX h1-HE P53~64
[EzE %=1 % 4-1 EES HEX
4 KEIODHSCIE BFAERY FRAERE FAFIIORCIE Ak
ou 3, 4F 4R 3,4F 40 ] (FY# P2~17
(F) % P47~59 (F) % P47~59
et o o (@) (o) o
BikH O (@) (@) O (@)
z30 O (@) X X O
H¥ 2 o M EEE B 3EE}
5 mfE DHTFYXFaxo Unit7-2 mfE Wil RYE
(T)# P2~17 What do you (F)#% P2~17 )
want?
rijad F e HE
AN PGUES=E ! BESE SN ZRAEK g
6 éﬁﬁ’ﬁg ‘/—57‘/%15 ~hig DR ) ~ (F) % P2~17
T 16:10 16:10 165:25 15:25 16:10
INZ 16:20 16:20 15:35 15:35 16:20
OkssrEty b O#Etvy Oa>/32 O3>/%2 O®%ELY b
1 Ox7a> (4%) O®ELw b O=AER O=ZA%EHR Oa>/f2
- Ok< OYya—4-— O=AEMH
’<C WIELDF:S O@&Etw b
3
3
D




